Plan Cartésien (Q)

Placez les coordonnées suivantes sur le graphique.

(-8,5) (3,18) (3,2) (7,8) (3,7) (4,16) (1,7) (-4,16)
1,14) (-53) 5,12) (55 (52) (71,13) (L,7) (8,6)
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Plan Cartésien (G) Solutions

Placez les coordonnées suivantes sur le graphique.

(_89 5) (_39 18) (_39 2) (_79 8) (35 7) (_49 16) (79 7) (_49 16)
(_19 14) (_5’ 3) (53 12) (_59 5) (53 2) (_7’ 13) (79 7) (83 6)
(-3,/18) >
(-4,/16) -
(-1, 14)
(-7,/13) o
- (5,]12)
(-7} 8) .
i 37 (7,7)
7 i
(8, 6)
(-8 5) (-5] 5) v
(-5} 3) )
(3] 2) - (5,2)
8 5 4 B 2 1 0 1 2 3 4 5 6 71T 8
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